BRHEBFREFOMSERERR CGHELF1—-L4)

11

REHRE . SMN4F6B1HOKN) ~SF4E683 0H(K) (BT 2 A Llb/kg)
EZ3E] — o o B&EH . BHERRESET
=o A7-3dY mB FRENH (68) Y9h134+137 (8994134+137)

1 [ FHEIF LT AME] [ 27H(B) A& 18.9
2 [ BUv LT AME]  [138(8) A& 20.4
3 [ FrRY a8)llm 14H (N) A& 8.9
4 [ F19U LT AME]  [278(B) A& 9.7
5 F Fa1oU a8)llm 22H (K) A& 13.1
6 [ HZ—L52X Ja8)llm 2H(K) A& 11.2
7 EES 2y F—= a8l 22H (k) AR 13.2
8 e ST X LT AME]  [21B(N) A& 10.2
9 F 43V LT AME]  [138(8) A& 10.3
10 [ 43V (F) LT AME]  [138(8) A& 4.1
11 F IIRF LT AME]  [138(8) A& 13.9
12 [ e LT AME]  [278H(B) A& 22.4
13 [l -FDZ ¢E &4 /3 BB LT RE] 206 (B) ENETE 9.4
14 [ILE-=D = BLUTE¥E  [135(8) A& 12.9
[(FNER %@Z%E 54 /3 LU HEMNE] E1T5] 68 (8) A& 13.6
16 K= #7730 &) |BUmraEE =88 13EI(H) A& 4.1
17 IR -=DCHE 7% EBLL i A HRHT H(X) A& 12.0
18 Ke=MDC3E 7% 8L A ] 6EI(H) A& 12.7
19 |[UE-FDCHE 7% a8)llm 17H (&) A& 8.3
20 [lIE-=02FE 7+ @) aEARNT [ 14HCN) A& 19.0
21 [ -FCFE| wxyv3d = 240 (&) 247 12.9
22 E-=DCHE|735E (KHk) XBEEIUE]  [14B(N) 20.4 7.7
23 EES 8 (F18) 8L 308 (K) AR 7.9
24 = = ERLLTRAMET [ 298 0K) A& 10.8

X BRHRFEREE “TRE” &R

ShEEMR : BT



